FHEAR#MEERIFE UDC 621.882.3

1 12 & \ GB 812—88
Round nuts H# GB 812—7¢
1 TERS
REAERUE TIRGOHIIE UM 10 X 1 ~ M200 x 3 B4R &,
2 S|AKK

GB 196 Liligg HEAR~

GB 197 %L@E#a AE=ESEAE

GB 699 f{LRRKRLEBNNSH—BERFKH
GB 1184 ERFMIEAE REAENME
GB 1237 KE#assrid ik

GB 90 EREH4RUWKE. KhE50%

8 R
R FEEE L FUR.

0’
s\ o4
2 MY
N
o m
D <100x 2 n (¥ =4
D >Mi05x 2 n (M¥) =6

ERVIMIVERS 1988 - 06 - 24 #L 8 1989 - 07 - 015CHE



GB 81288

x1 mm
e dy d, m - - C ol
DxP max min max min .
M10x 1 22 16
M12x1.25 25 19 4.3 4 2.6 2
M14x1.5 28 20 8 0.5
Mi18x1.5 30 22
Mi18x1.5 32 24
M20x1.5 35 27
mixi: 38 30 5.3 5 3.1 2.5
x1.
M25x1.50 42 34
M27x1.5 45 37
M30x1.5 48 40 1 0.5
M33x1.5 10
M35x 1,57 52 43
M36x1.5 55 46
M39x1.5 6.3 N 3.6 3
M40x1.5" 58 9
- M42x1.5 62 53
M45x1.5 68 59
M48x1.5 .
M50x1,5° 72 61
M52x1.5 78 67
M55x2 *
o e * 12 8.36 8 4.25 3.5 ——
T Mxz 8 74
M60x 2 90 79
, M64x2
Moz 2D 95 84
M68x 2 100 88
M72x2
M7sxa D 105 93
10.36 10 4.75 4
M76x 2 110 98 15 1.5
M80 x 2 115 103
M85 x 2 120 108 1
M0 x 2 125 112
M95 x 2 130 117 12.43 . 5.75 5
M100x 2 135 122 18
M105x 2 140 127
MI110x 2 150 135
M115x2 155 140
M120 x 160 1
1202 £ 22 14.43 14 6.75 6
M125x 2 165 150
M130x2 170 155
M140x 2 180 165
M150x 2 200 180 2%
Mi160x3" 210 190
M170%3 220 200 7
16.43 16 7.9
M180x 3 230 210 2 1.5
M190x 3 240 220 30
M200x 3 250 230

H: 1 URFREMAMRES,



GB 3128

A BER%H%
BARRBLE 2R
%2
# ¥ 4581 (GB 699)
N % 6H
® 4 ,
E O® GB 1%, GB 197
8 BHE 3 9 G
-
k% GB 1184
O WRLHHLBEFHRC 35~45
RS TS @ EFEHRC 24~30
, @ Rt
R K EE % GB 9
§ #RiC

5.1 FRZHEREGB 123THE.
5.2 RidRB: |

GO D =M16x 1.5, HE X460, WH2BALEEEEHRC 35~45, REEMNER
BAIARIC,

g5 GB 812 MI6xL.5

Lo UL

Ahgm 2B REHREEAB AR,
AREHEFRR L E RS REAMRREO,
ARRnERIRI L ERZFRAFRRAREE





